
B.Sc,/3rd Sem (H)/BOV23 (CBCS)

3rd Semester Examination

BOTANY (Honours)

Paper : C 7-T

IGenetics]

lcBCSl

Full Marks : 40 Time: Two Hours

The figures in the margin indicate .full marks.
Candidates are required to give their answers

in their own words as far as practicoble.

. Group --A

Answer anyfive of the following questions : 2x5:10

l. Distinguish between interference and coincidence with

2.

J.

4.

limitedraits?

v-ilr7-t600

What is tautomeric shift?

reference to crossing over.

What are lethal genes? Give one example.

What are sex linked traits? How do they differ from sex
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